Explanation: The red marks denote the changes to the equations which are marked in the proofreading
file. These corrections do not change the results and conclusions.

e Ineq(12), changes E to c. This is a misusing letter. Also, at line 25 in the proofreading, “The four
parameters of E.. indicate the extinction efficiencies ...” changed to “The four parameters of cex:
indicate the Chebyshev polynomial values of the extinction efficiencies ...”

e Ineq(13), thereis a type error which needs to exchange the subscripts of “01” and “10”. This
exchange is also needed in a few following equations.

e Ineq(15), there is a missing sum symbol.
e Forthe sentence between eq (16) and (17) in the proofreading,
“Putting Eqgs. (12) and (13) in to Eqg. (11) leads to ” changed to

“Putting Eqgs. (12) and (13) in to Eqg. (11) and assuming the independence of scattering
(absorbing) Chebyshev values on the imaginary (real) part leads to ”

OCext,zk(J) = OWoo * Cext,00(J) + OWo1 * Cext,01(J) + OWig * Coxt10() + Wiy * Coxt11 ()
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OWoo = (v —1)6u+ (u—1)6v owyo = (1 —v)éu — udv
owy, = (1 —u)dv — véu dwip = udv + véu
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